EXCEL spreadsheet for the calculation of the convergence — confinement curve
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Col 1: p/p, between 1 ... 0 b
Col 2: A (between O ... 1) A=1- 7

Col 3: Plastic region ? (Y/N) —> If A>A_thenY else N

Col 4: r, /R ——— If N thenr /R =1 else:
fo=0: % =exp|:%(i Ns—l)}
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Col 5:u_/R IFL <) thenu —n/a else: 2 =4 |2 |[ 2o
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EXCEL spreadsheet for the calculation of the convergence — confinement curve

Col 6: ug /R —> If A <A_, (no plastic region): MER =1 (fGJ

K

. . u, (r

Else (there 1s plastic zone): “r _Zp|lp
R R\R

Calculate uy /R : ugp/R for A=1
Col 7:ug /ug,, —> (uz /R)/ (ug,/R)

~0.588
Col8:x/R —> %21.10 In [M—Rj —1

Z/lRoo

Plot curves: (ug /R) vs (p/p,) , (r,/R) vs (p/p,), (X/R)vs (p/p,) or (ug /R)
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Convergence-confinement (GRC) Confinement along axis (LDP)




EXCEL spreadsheet for the calculation of the convergence — confinement curve

Col 9: o, /p,(at =R): > Ir (1-4)

P,
Col 10: o4 /p,(atr=R): —> If A <A, then: %o _ =1+ 1)
P,
else: —gzk(ar}ti
p, p,) N

Plot curves: (o, /p, & o, /p,) Vs (p/p,)
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